flux

A? / 0.5924

20

A? / 0.5925

40

0 100 200 300

—100

Fe2 + Continuum Fit
oy 308 km/s Opep 434 +/— 179 km/s X2min / 4594 = 0.5924
Y : s . — —— 0 — :

P

o’ 3 ] 1 1 A, “‘. T i ’ . | 1 1 1 1 1 I 1 1 . L 1 1 1 1
3000 3500 4000 4500 5000 5500 6000 6500 7000 7500
Rest A (&)

Fe2 Scale Factor X2 Diagnosis

o, 308 km/s 0.0980(59) x min /. 4594 = 0. 5924
T T T T T T T T T T T
RMS 3.43

- MAD 2.90 .

1 . 1 . 1 . [ . 1 . 1 . 1 .
0.04 0.06 0.08 0.1 0.12 0.14 0.16

Fe2 scale factor
Fe2 Velocity Dispersion X2 Diagnosis

o, 100 3750 prior 225 km/s —820(180) X2min / 4594 = 0.5924
F T T 1] T I T T T T I T T T T I T T T T I T T T L |
[ rm0OB5 RMS 23.5 h
i MAD 16.6 i
F 4L LA A L AI ]
[ ] umuwwpr!']\'ll‘ LN Ll ]
i Y : b ]
L R S
0 1000 2000 3000 4000

Fe2 Dispersion (km/s)



